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1	 Simplify  m
5 × m3

m2

Answer ____________ [1]

2	 Work out the nth term of the sequence  6,  3,  0,  – 3,  ...

Answer ____________ [2]



*16GMC8204*

*16GMC8204*

11948

3 A

D

B

C

	 ABCD is a rectangle, with AB = 9 cm and BC = 7 cm.

	 Shade the region inside the rectangle which is the locus of all points that are

		  (i)	 greater than 4.5 cm from C

	 and	(ii)	 nearer to B than D.	 [3]
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4	 Use trial and improvement to solve the equation      x3 – 3x = 11

	 Give your answer correct to one decimal place.

	 You must show your working

x x3 – 3x

Answer ____________ [4]
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	 (a)	 On the grid above, draw an enlargement of the shape S, using a scale factor of 
1
2 

and centre (0, –1).
		  			  [3]

	 (b)	 If the shape S has an area of 20 cm2, what is the area of the enlarged shape?

Answer ____________ cm2 [1]
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6	 s is directly proportional to the square of v.

	 When v = 20, s = 250

	 Express s in terms of v.

Answer _____________________________ [3]
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7	 A bag contains 60 coins.

	 Each coin in the bag is either a 20p coin or a 50p coin.

	 The total value of the coins in the bag is £22.80

	 Work out how many of each coin is in the bag.

	 A solution by trial and improvement will not be accepted.

Answer ____________ 20p coins [3]

____________ 50p coins [5]



[Turn over

*16GMC8209*

*16GMC8209*

11948

8	 Make T the subject of    J = √TR

Answer _____________________________ [2]
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9	
A

B

CD

diagram not drawn
accurately

12 cm

14
  cm

20 cm

41°

77°

	 Find the area of the triangle ABC.

Answer ____________ cm2 [5]



[Turn over

*16GMC8211*

*16GMC8211*

11948

10

5

3

4

2

1

1

2

3

4

y

3456 2 1 0 1 2 3 4 5 6 x

A

B

	 Describe fully the single transformation that maps triangle A to triangle B.

		 Answer______________________________________________________________

		  _________________________________________________________________  [3]
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11 y

x

y = a x y = b x

y = c x

y = d x

	 Sketches of    y = a x, y = b x, y = c x, y = d x are drawn above.

	 (a)	 a and b are numbers. One has the value 2 and the other has the value 3

		  Which is which?

		  Answer a =___________ , b = ___________ [1]

	 (b)	 Write down the value of c
		  Answer c = ___________ [1]

	 (c)	 Estimate the value of d
	 Answer d = ___________ [1]
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12	 A drawer contains two blue socks, four grey socks and six white socks.
	 Two socks are taken at random from the drawer.

	 What is the probability that

	 (a)	 they are both grey,

	 Answer ____________ [2]

	 (b)	 the two socks are not the same colour as each other?

	 Answer ____________ [5]
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	 (a)	 Draw the graph of    y = x2 – 2x + 3    for    –2 ≤ x ≤ 4    on the grid above.	
[2]
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	 (b)	 Use your graph to find the gradient of the curve when    x = 2

Answer ____________ [2]

	 (c)	 By drawing an appropriate line solve    2x2 – 4x – 1 = 0

Answer ____________ [2]

	 (d)	 What line would you draw on your graph to solve the equation  x2 + 12x + 4 = 0 ?

Answer ______________________________ [2]

THIS IS THE END OF THE QUESTION PAPER
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